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Note : It is compulsory to attempt (5—5) parts each from Q.No.2, Q.No.3 and Q.No4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. -wf&&fndnﬁgq Urber

Differentiate between Base Quantities and Derived Quantities. -{_.GJM Usdams#h sl sl (i) 2/./Ulr
Define Atomic Physics and Nuclear Physics. _af;y} § S o AL i)
How the volume of an Irregular Shaped Solid can be find?  SpZ/pwedods ¥ Ablies” (i)

Differentiate between Rest and Motion. ~{..IEJ/'\,¢ c}'"r‘ sl &2, (iv)
Define Random Motion and give two examples. ..f:fiu‘-'P 2 4/».{’; d, c}‘?['.'tzz (v)
Define Force. -a{...g/" S e (vi)
State Newton's First Law of Motion. -aﬂw)mﬁ; ¥ S Lok (vii)
Differentiate between Mass and Weight. .{_GJM s sl JU (viii)

EROAL f;};ﬂﬁjﬂdf ] y;}gﬂﬁjﬁ i) 34

Differentiate between Like Parallel Forces and Unlike Parallel Forces.

State Principle of Moments. ..’qfakd:‘l ¥ Uy (i)
State Law of Gravitation. aowdv ¥ s/ i
Write down formula and value of Mass of the Earth. _afg =d Ju‘ 1 sl Uss § Lk (iv)
What is meant by Communication Satellite? ?q..:l/Lf e SN K S (v)
Define Work and write its formula. ..éf{lﬁiib’m s 2ok 7 8 S (i)
Define Kinetic Energy and write its formula. -#qb';ii U1 ol 422_’/7 S o _,Zli\.ﬁg:naﬁl (vii)
Define Unit of Power. -7 8 wy L il
Define Pressure and write its S.I Unit. ey s ;Z(_g} A ) 4y
State Pascal's Law. <& !aw)n‘ ¥ Ky i)
What is meant by Elasticity? T‘:'-"'J.’«L-‘( = L;'"P ki (iii)
Differentiate between Heat and Temperature. -4{;‘:&}{; ,E-/f.' »l & (iV)
Define Latent Heat of Vaporization, -@:.yf- N .:uVLf S d‘*;’l;.;zs (v)
Define Thermal Conductivity. -%14‘/3 § &2 i)
What is Transfer of Heat? Define Conduction. - éf:é'f&yy g Yq_lf = A7 J@ (vil)
What is meant by Green House Effect? _ ?q..:yyl.:.;mufi}ef S (viil)
(2042 _

@) _@Cvu:‘fm.:.dﬁm(u:,«alf.gz&uiﬁ ¥ ‘ﬁu/.:,(‘i? N 540
State Law of Conservation of Momentum. Explain it with Balls Example.

(5) ..é}{‘:‘" S ¥ ;b’.q..Jl;ﬁ 15ms 1 fn( S~ 5s U U:JM{}J:):?;.G’ Uy § 30ms” 1;(...{[ (&)
Find the Retardation produced when a car moving at a velocity of 30ms'1 slows down

uniformly to 15ms’ Lin 5s.

(4) Explain Fossil Fuels and Nuclear Fuels. ool § ;Sé;ﬁ’g s RN 60
) L St Urdslige KL 50 Nog-16 cm Rs ¥ JOLF £ ¥ ¢
The Steering of a Car has a Radius 16 cm. Find the Torque produced by a couple of 50 N.
@) L= L, (1 +dAT) L fbtehie s gf_gﬂfmf,émﬁmrwu) () 740
Define Linear Thermal Expansion of Solids and derive the equation L = Ly (1 +(( ANT)
8w?P | -%}"ﬁgﬁuz.m&a.w;\f 20 N s 4110 mm S e VB S ikl (L) E

The head of a nin is a sauare of side 10 mm. Find the vressure on it due to a Force of 20 N. EI
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle In front of that question
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The Kinetic Energy of a body of Mass 2Kg is 25], its speed is
S()rns'1 (D) 251:13"1 '{C) 12.5 ms" 1 (B) 5ms” 1 (A)

An Interval of 200 Ms is equivalent to  : D el ¢ 265 200 1401 |
2x10°%s @ 2x10%s (© o0.2s B  0.2s5 (W M
i Pttt ms ! e Te g s6kmb T O] (2)
A train is moving at a speed of 36Kmh™ 1. Its speed expressed in ms Y s :
sms”t (D) 25ms'1_l (© 20ms! (B 10ms! (W)
LS SN L g v LS| )
A boy jumps out of a moving bus.There is a danger for him to fall
Away from the Bus meJ" (B) Towards the Moving Bus ...JA!JJ.nJL' (A)
Opposite to the Direction of Motion Lerdfe/7 (D) In the Direction of Motion Renfel7 (C) E :
< et APl e Engpnl WP Ol Sl ide | @ |
Which of the following material has lowest friction when pushed between Metal Plates : i
oil JT (D) Air Ix (C) Fine Marble Powder izt (B) Water (33 (A
i 0 PESTAY P bl Foen] 6) |
Two equal but unlike parallel forces having different line of action produce ‘
Neutral Equilibrium ﬂ}dxgldﬁﬁ (D) Equilibrium I{/-Jdlfi (C) Couple K ® Torque it (A) :
| e dngs AL AL e bt " | 6) |
fhe value of "g" at a height one Earths' Radius above the Surface of the Earth is :
1/4g (O 1/3g (© 1/2g (B) 28 (A)
The Weight of a body is 147 N, its mass will be IS 107N ek Ll | (7)
1.47Kg (D) 0-147Kg (O 14-7Kg (B) 147Kg (A)
’ Al S 7 §T Ll s AL @) |
If the velocity of a body becomes double then its Kinetic Energy will
Become Double ¢ Obnt/s (B) Remain theSame ¢ Guty (A)
Become Half q.Jl;mJJ (D) Become four times ;.Jlgﬂbﬁk ©
The number of Perpendicular Components of a Force are : : q_a.m!p"t,( Jg;{d»’ ﬁu}hf( 9)
s M 3 O 2 ® 1 (A
Near the Surface of the Easth, the Gravitational Field Strength is : ¢-3b § WS/ e /LUUs| (10)
oNKg (D) 10NKg' (O 10NKg> (B §NKg T (A
The Energy Stored in water of a Dam is  : q.an&}irﬁa,éjuﬂagﬁﬁ (11)
Electric Energy 39 (B) Potential Energy  EASY (A
Thermal Energy &siJ# (D) Kinetic Energy g/ d¥ (O
Snizdurg 257 GBI LLAK 2| (12)
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Note : It is compulsory to attempt (5—5) parts each from QNo.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. LB o oo

Define Plasma Physics and Nuclear Physics. ..L{/L,t.!/" g JG’/-:!; s A () 24y
What role S.I. units have played in the development of Science? ?.;_W:uu/ 1 uj& SI(,CG-?JJ( L (i)

What is meant by Significant Figures in a Measurement? Tq.ﬂ/k"a.u:u‘»tﬂldfgof (iii)
Differentiate between Positive and Negative Accelefation. %.-J)Lﬁﬂ J’i ! ’:?g 2l ziJ.g (iv)

Define Velocity and write its unit. ..a,‘g LK sl 4...4/’ S 6 (v)

Define Force and write its unit. ..é.‘!d 26 sl 4(...&/1{ Ju? (Vi)

Write any two disadvantages of Friction. 50 a2t .u; ‘:...Jfﬁc;'; (vii)
Define Centripetal Force and write its formula. -z-ﬂmtis’w sl %4/‘7 S o s i (vii)
Define Like Parallel Forces and Un-Like Parallel Forces. -g’_‘,’/’ J yJM,&JUUi 2l YJU,G\—FU (i) 3/'.Ulf
Define Torque and write its equation. -Q‘(’i‘-‘"’lﬁsl g/ g L i)

Define Force of Gravitation. 7 -44/7 d/ degf..ﬂw} (iii) -
What is meant by G?Write its value in S.I. System. -@;MJwJ("/ S.1SelsY < G (V)

Why does the value of " g" vary from place to place? ?q.&xuz’..iﬁ*.;uﬁ-ﬁ'-:—w "g" (v)

Write two disadvantages of Fossil Fuels. ..Q:JQ =t £ RS ) (vi)

Define Kinetic Energy and write its equation. -LZ/:‘)’:":VJJI sy § gy (vil)

What is meant by Efficiency? el < @ (i)
Define Matter and write name of its three states. -E{?tﬁuﬁbdd’m 28 4:4‘/1 J wb (i) 4,-,{)!,'
Define Pressure and write its formula. 2t o aﬁ:yi A2

Define Strain and write its formula. -2 4(4}' S oz i)

?*:Vk(a_ﬂ{ﬂ 2 »é {f L }'ff; (iv)

What is meant by Upper and Lower Fixed Points of a Thermometer?

Define Heat Capacity. -é&’i g t).j?( a7 (v)

Write three ways of Transfer of Heat. -Z;ﬂ &-)uf L =)@t (vi)

Write two uses of Convection Currents. ' : ...’:!J..-.UWI Iy ffu“{f (vii)

Define Radjation. , -.&{.@j § St (viii)
r»,.-a? .

(4) Write four differences between Mass and Weight. -u."‘ﬁ/ Jk u: s s Jb (D 5/:‘Ulr

Y2 Kmh' - LS m L i S boi § )aoo-.g..fj/ a,/‘t:i;iu[.c;‘f)*’l L 0¢5ms 2:._',:);5_»4,@)4 ()
®) e

A train starts from rest with an Acceleration of 0+5ms 2. Find its speed in Kmh'1 when
it has moved through 100 m.

(4) Explain Solar House Heating System. -4::)9; g ("" Ly () 6/l
©) -%}Vuﬂb,p _”..f (5 gob E.Lq.d'bh ) ¥30° AL sl - X U:’} J 50N (&)
Find the Perpendicular Components of a Force of 50 N making an angle 30° with X - axis
@ _éjﬁ V=V, (1% p{_\,T) .:A:V..éf:éy’ J izg‘];vut(:éu () 7,{Ua,~
Define Volume Thermal Expansion. Derive the equation V =V, (1 + BAT )
() -4;#7.{11»@15;@;}‘! 20N b 41610 mm LIS -4V dueptl (&)

The head of a pin is a square of side 10 mm. Find the pressure on it due to a force of 20N.
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